Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-V ¢ Examination —- WINTER ¢ 2014

Subject Code: 3350904 Date: 04-12-2014
Subject Name: Microprocessor and Controller application
Time: 10:30 am - 01:00 pm Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
Q.1 Answer any seven out of ten. 14
1.  Define open loop and close loop control system.
2. What is an instruction? Explain with the help of an example.
3. What is program counter and stack pointer register?
4.  Explain the PSW (Program Status Word) or flag register format of 8051.
5. What is the functions of DPTR Register?
6. State the types of control action.
7. What is Multiplexed Address/Data bus ? How is it demultiplexed.
8.  State different types of memories. What is EPROM?
9. What is BSR mode? Draw the BSR control word format.
10. Write the applications of SCADA.
Q.2 (a) Define control system with suitable diagram and write the advantages of using 03
control system.
OR
(@) State and explain types of control components. 03
(b) Explain construction and working of d.c. servomotor. 03
OR
(b) What is servomechanism? Explain gun barrel position control system. 03
(c) Draw the block diagram of closed loop control system and explain the 04
function of each block.
OR
(c) Explain the construction of Synchro. 04
(d) Explain the working of following pins of 8085 04
1) TRAP 2) READY 3) ALE 4)INTR
OR
(d) Write the advantages and disadvantages of microprocessor control. 04
Q.3 (a) State the addressing modes of 8085 and explain any two. 03
OR
(@) What do you mean by Interrupt? Write the various interrupts of 8085, their 03
priority and jump address.
(b) Compare Microprocessor and Microcontroller. 03
OR
(b) Short note on ports of 8051. 03
(c) Draw the architecture of Intel 8051 and state its main characteristics. 04
OR
(c) Explain 1) sourcing and sinking 2) Latch — unlatch with reference to PLC. 04
(d) State the Data transfer Schemes used in Microprocessor and explain any two. 04
OR
(d) What is Decoder? Draw the 3 to 8 line decoder and explain it. 04
Q.4 (a) Write ashort note on temperature control of furnace using microprocessor. 03
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OR
Explain data acquisition system.

State the points to be considered while selecting a PLC. Write the application

of PLC.
OR
Draw the Block diagram of SCADA system. State its components and the
functions of SCADA.
Draw and explain logical block diagram of 8085 microprocessor.

Explain the Classification of instruction set of 8085 Microprocessor.

Draw the logical block diagram of 8255A and give the control word format of

8255A.
Write the application of microcontrollers.
Write advantages and disadvantages of PLC.

*khkkkkhkkikkikikhkkkk

a8l
gl SlEURL Alcdoll wellol AL,
WU QU AR SARBS QU $A RieH ofl cavaul 2.
Bo2s2lol WA 9 ? Gele0L | umesal.
YIUH 51Go2R el s W2 ABe g & 2
8051 of PSW (UloLH 2 ) / $AL AR sile AUxxAl
DPTR %2R of st 9 82
$2lA Ws2Uat oll USIR AUl
HE el Ajusdel ti 97 Aa sli@ast 3dl la sAu B 2
AMI olt QLAY YSIA @vll. EPROM ¢f 8?2
BSR s 9 8?BSR all s2lat a sie €lR.
SCADA «ll Gu20ol el

ulsld €13l s2lct Reuoll caltvall AW WA $2d RireH clluRcllell

glAEL AUl
el
sl SLdlela ol YsL Al Aol AUl
D.C Ul {2R ofl Usll A s12] AHHAl.
el
A3 AeA 9f 2 9lot GlRA WAlalel st R AHsA

SRS AU st Mol oclls Wil €1 U (AlAu scllsall st

AHestal.
w Ul
A5l [Synchro] oll At AHALAL

2/3

03

04

04

07

04
04

03
03

1Y

03

03

03

03

021

021



U4, 3

U ¥

ud. °

o{lA ol 8085 Mototl 5121 w0
1)TRAP 2) READY 3) ALE 4) INTR

WYl
HISSIURARUR S2lcoll $LAEL Aol ARGLAEL AU

8085 oll WHRL HsAU ULl Sl URl A AHs1Al.

wal
Bo22 9] B7? 8085 all Bz oll ALE], UAEI sUis AUA Aol
1Y AJU AU,
HBSIURAAR Aol HIBS5 AR ofl AuuHell 3.
el
8051 oll W& (A &5 olltd Gul.
Intel 8051 HIB552 AR AUS25UR €131 Aoll Yuau cllatlls Al Al
wal
PLC ol ieeldi (1) AAlot sl AlSlot (2) AU-UAQU UM AL
HBSINRAUR HI Al dl 32t 2lotg? Ut Ul A Se .l
AREIRIC TN
uall
Slsls2 9 82 3 &l 8 slslsR uRUa €131 Agf stal umesdl.

HSSINAUR 6l &gl of ctluMlet 52 QA &5 ol cvll.
Al
32l Ascloflalet Rred AHostAl.
PLC ol urieoll scllotl el Arl A dotl GUAN AWl
WUl
SCADA ofl oclls as(Q €131 slrdlaleetl oltid %Rl el SCADA sl
$53lot LUl
8085 HIBSIYAMR oll AWSH 6Als SlaAUH €131 AHestal,

8085 HIBSIUIRAUR oll Bor2s2lat A2 of a5 AHLA.
8255A oll 1S 6Als SLAUUH R Aol Ad] 2l ab glRAe
AL

HLB5S2LAR oll GUAN AWl

PLC oll SLAERA el ARSIAERA AVl

*kkkkhkkikkkhkkikx

3/3

021

(0} 1

03

03

03

03
(0} 1

0¥

(0] 1

021

03

03
(0} 1

01

09

0¥
01

03
03



